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4. The ratio in which a transverse common
tangent drawn to two circles with raddi 4
cm and 6 cm, respectively, divides the line

[ joining their centresiis:
Y g8 eUTd AT difee, Sad FAT: 4
cm 3R 6 cm BT T @ gl W
& @l ME TE AT IHITASS
TINE@T 3% el 1 o2 arelr J@T
a1 fsnfaa &3 3
a)1:2 b)1:1
M _2_co 33 4 2.3
B = SR

| SSC CHSL, 9 June 2022 S3 | 3



5. In the given figure, the circle
with centre O has radius 10cm.
The radius of the circle with
centre P is x. STR is a common
tangent to two circles at point R
and S as shown in the figure.
RT =16cm and TS = 24cm.
What is the value of x (incm)?

16cm 3R TS =24cm @ x &1
(cm ®) FaT 82
15 b) 16
c)12 d) 18

| | 4
CPO 2022 S3, 9 Nov 2022




¢+ In the adjoining figure circles 1 and 2, with centres P
and Q respectively, touch each other and have a
common tangent that touches them at point Rand S
respectively. This common tangent meets the line
joining P and Q at O. The diameters of 1 and 2 are in
the ratio 4:3 It is also known that the length of PO is
28 cm. The ratio of the length of PQ to that of QO is

& a5 amfa #F 1 3K 2 Fgp vaqQ AT A T
g S TF gEY & T #G 7 OAR IR
3gfass Tuet Y@r § St 37w fegHt R
3 s 9¥ T FCAr 8] I T @ /g p AR
Q ;;;rT SirEa arelt Y@r # fAigo W HICL
]

C,

& UTET FT IHqad 4:3 8| PO #r g

2
é_Scm%‘I PQ 3 Q0 #T FFETE T U FAT
2

a)1:2 % 1:3 c) 7:12 d) 3:4

|CAT 2004 | 5
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Z. In the adjoining figure circles 1 and 2, with centres

lMB P and Q respectively, touch each other and have a

common tangent that touches them at point R and
S respectively. This common tangent meets the line

O joining P and Q at O. The diameters of 1 and 2 are

in the ratio 4:3. It is also known that the length of
PO is 28 cm.[The length of SO is : ‘
& % pfa A 1 AR 2 Fg P vd Q T At

3k q # A arelr W@T
gl g 1 3 2 & =yl T 69T 4:3 8| PO
@ gt 28cm 3| SO # FFTS FAT BN

a) 8V3cm b) 6v15¢cm

A12v3cm d) 14v3cm

| CAT 2004 | 6




1o hﬁ]’ g. In the given figure, B and C are the
1\ E 1S centres of the two circles, ADE is the

common tangent to the two circles, If
the ratio of the radius of both the

circles is 3:5 and , then

what is the value of DE?

d’r?léaﬂaﬁ%rfr BAUT CA JA &F
¥z ¥ ADE o gar N wH
3mﬁ%3m?i'@1%lﬂﬁa’lﬂ’raa’r
f B F 9 3:5 ¥ qur
AC = 40 ¥, GYDE T AT F4T &2

a) 3V/15 b) 5v15
c) 6V15 A aV1s

| SSCCGL T2, 17 Feb 2018 | 7



1 9. In the given figure, PT is a common
tangent to three circles at points A,
B and C respectively. The radius of
the small, medium and large circles
is 4 cm, 6cm and 9 cm. 0,4,
0, and O3 are the center of the
three circles. What is the value (in
cm) of PC?
mpfa &, pT e ga@r w =
Rigat #A: A, B @ ¢ W
INgfSe ITEae 3@ §| oI, m:q
Jgr gad ilé? a?-ﬂ' AT BA=AT 4 cm, 6
cm TG 9 cm & 0, 0, YT 0,
dielt gat & &g 8| PC FT AW (cm
) T &2

18V6 b) 9V6
c) 246 d) 15V6

| SSCCGL T2, 09 Mar 2018 | 8




Jo. Three circles cq,c; and c3 with radii 74,7, and r; (where ry <1; <r3)
are as shown in the given figure. What is the valur of 1,?

Fﬁ?l'a?l'cl Czamcgmﬁ_éﬂ'@rlrzazﬂrg % (EBT r1<r2<r3)
aﬁagéaamﬁrﬁaeﬁmwa r, T HIT FIT g7

/{\/T17‘3 b) r1;r3 22 d) Ty T3 T

ri+ra

#?ﬂZﬁQﬂam?&)r'
O Tom- a{ .
mu\mm—@“ﬂ

CGL 2017 T2 9



\b P l]. In the figure five circles with common
tangents AP and AQ are given. If the
radii of second smallest circle and
largest circle are 6+/3 cm and 16 cm
respectively. Find the radius of
second largest circle.

ffr ¥ Ry & 9w gq afass
TaREmt AP 3R AQ F 3eeT
Q @& T §. IR qId BIE
Q I ged @3 N B
/l’é = HAA: 6V/3 cm 3ﬁ'{' 16 cm %, ar
TOX)3 gwy W W gd@ @ Bed

ddigu.

a) 9 cm ﬁ 8V3
c) 9v3 d) NOT

| | 10



)2 Two circles touch each other at point X.
/ 6 Two common tangents of the circles meet
g at P and none of the tangents passes
through X. These tangents touch the larger
circle at points B and C. If the radius of the
larger circle is 15cm and CP= 20cm, then
what is the radius (in cm) of the smaller
circle?

& gd X W TH gEY F T = g
gl &1 & dA Tege fag p W
frercht § qor #5 o Tt Yar X ¥ Ad
o ¥ ¥F TRR@r @3 gq fig B
aq1 ¢ W Tt FIh ] I 92 9q
=T 15cm 4T CP = 20cm ¥, @ B8R
ga @ BT (em #) T 372

a)3.5 3.75

c) 4.25 d) 4.45

| CGLT2, 19 FEB, 2018 | 11




)3. In the given figure, ABC is a right
angled triangle. ZACB =90’
and <£ABC = 60°. If the radius
of the smaller circle is 2 cm, then
what is the radius (in cm) of the
larger circle?

ar AT IHfa A, ABC TH
HHFIOT ﬁraﬁr 8] 2ACB =90’
duaT LABC = 60° ¥ IR oXR
qd & Bsar 2 ecm %’ o EI?
a?ra?rﬁ—m(cm ﬁ)arznih
a)4

c) 4.5 d)7.5

| CGL 2017 T2 | 12
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Iy, The diagonals of a cyclic

3 quadrilateral ABCD intersect at P
@;25: 75 and the area of the triangle APB is
£t % 24 square cm. If AB = 8 cmand
CD = 5 cm, then what is the area

= Cf .ps-of the triangle CPD?
27 Rl TFAE IJHS ABCD &
Y feFt g P W & gy A

Fred § AR Pser APB FT aAwa
24 T3 cm §| 39X AB = 8 cm 3R
CD = 5 cm § @ BT cPD @1
%gxl‘m‘%j‘s'/' AT FAT EON?

a) 24 square cm

£ 7 b) 15 square cm

AN
c) 12.5 square cm
A9.375 square cm

CDS 19 Nov 2017 15




| 5. In the adjoining figure, points A, B, C

B/_\]D and D lie on the circle. AD = 24 and
BC = 12. What is the ratio of the area
%:M?;E to that of the triangle Aa,;}zE?
IHid H A, B, C D

iz @K@ 2 ﬁﬁﬁﬂ%ﬁ%|AD_24
BC =12 %| fsrsr ACBE 3R
fsrst A ADE F St @ 39T

C A FAT ENT?
1:4 b) 1:2
c)1:3 d) data insufficient

| CAT 1997 | 16



[¢- APQR is inscribed in a circle. The
bisector of 2P cuts QR at § and the
circleat T. If PR = 5cm,PS = 6cm
and ST = 4cm, then the length (in
cm)o

APQR ﬁm"raa#nﬁrﬁﬁr—r
forar o= B APmmﬁﬁm
QR A g 5 W Fear ¥ 3 qu
# Rig T W Fredr §| I PR=
5cm,PS = 6cm 3T ST = 4cm%’

Coy|
a) 13 12
c) 10 d) 15

| | 17
SSC CHSL,13 Apr 2021 S1
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|7. In a triangle ABC, angle bisector

of £LBAC cut the side BC at D
and meet the circumcircle of
AABC atE. if AC=4cm,AD =
5cm,DE = 3 cm. Find the
length o @

felt st ABC &, 2BAC a»-r
aﬁﬁm 3T BC I

Frear § 3R°A4BC F trﬁa?r
# Rig £ W Baar ¥ IR
AC=4cm,AD =5 cm,DE =
3cm & ar AB @ m qdr

I
710 b) 4

c) 15 d) 8

| | 18



|g. In AABC, angle bisector of £A

m m intersect BC at D and
P(,\F) N AE__ A intersects circumcircle of

o triangle at E then o
AR ) AABC & £A T aHTSTH
Tq‘g"’é_‘ﬁ% BC D W 3R 3 &
aRgd # E W Frear § an-

A4 [ ) AB: AC = BD: BC
R 5 ¢ ) AD: AC = AE: AB
X I AB: AD = AC: AE
IAB:AD = AE: AC

]



9. In AABC, the angle bisector of

(A KA A £ZBAC cut BC at D and meet the
ACD A_GE N circumcircle of AABC at E. If
- AB:AD = 3 : 5 then find AE :
C _ AC?
——A =Q=’4fp= AABC & LBAC &1 gfastrars
AQ cg AL BC & D W 3R AABC &

R # E W Fear § IR
AB:AD =3 :5al AE: AC &1

6 C g]g-n-?
a) 2:3 / :

3:5
c)5:3 d) 3:2

<

y\

|

20
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